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[1-6-3] =75 F—PCBD H b 2344 55-~FH s nn 7 -=/L (#167) - KX (HAL : pg/m®)

FHALERE ¢ 2014 EHE
TRHBEE (MR _— ) @ 3136(K % : 0) A ] 2 0.026
R (Bik<—2x) : 3U36(KM% : 0) f%ﬁ 0.028
W T RRAE : 0.007 z;fjt [ 0.74
TE BT RME @ 0.020 5o/ ME nd
e | - . VLT ] T T T —
il /o aEi kN =5 AR AT A R R
9/18~9/24 0.034 MV
JeyiE 1 [P AEE)R (J1H)
9/16~9/17 nd HV
FLIR T 2 |[fLiE=fir o (FLigH) 9/17~9/18
9/18~9/19
9/1~9/2 nd HV
AFR 3 |MEEA X —4 (FAHT) 9/2~9/3
9/3~9/4
9/2~9/9 0.020 MV
B R 4 |EHRALE EARFEST (LA TTH)
9/2~9/9 tr(0.017) MV
A 5 |AWRESERER Y Z— (2l
9/2~9/9 0.030 MV
TERS IR 6 |BERIRBTAEBRBEAIZEAT (ARG TH)
9/25~10/2 tr(0.013) MV
TZER 7 | MR A BRBERSME R (R
9/3~9/10 0.042 MV

8 |HHRBREEREAITERT (TL3RIX)
HOUHR

10/19~10/26 nd MV
9 INEEARE
9/8~9/9 0.058 HV
Uiy 10 |[MRJINRERER Y% — (F&R) 9/9~9/10
9/10~9/11
9/1~9/8 0.051 MV
R 11 |BRE TR BER A gE AT (R li)
8/25~8/26 0.024 HV
iR R 12 [ RIL— BB RKBER Brig) 8/26~8/27
8/27~8/28
8/25~8/26 0.11 HV
LR 13 | — AR R KME R (W) 8/26~8/27
8/27~8/28
9/8~9/9 tr(0.009) HV
)11 14 AR EEREEE v % — (&IRT) 9/9~9/10
9/10~9/11
8/26~8/27 0.033 HV
(LAY IR 15 [ IIAL R A BR BRI ST (H R TT) 8/27~8/28
8/28~8/29
9/2~9/9 0.041 MV
EEE 16 |EFFIRRERSMIET (EFH)
9/16~9/17 tr(0.011) HV
Mty 2. I 17 | RIRERAEBR BERF TR AT (4515 T) 9/17~9/18
9/18~9/19
0/17~9/24 0.026 MV
i 18 | TR ERIAR (4 &R
9/1~9/2 tr(0.014) HV
—ER 19 |(=E\EEREREMZEET (WA T 9/2~9/3
9/3~9/4
- oo [HAHRSTAT B A KBRS A A PE R £ P 0.12 HV

BEFERT (KBii) A
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HV
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9/3
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0.15

HV

23

9/1
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HV

24

9/16
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nd

HV

25

9/8

9/9

9/9

9/10

9/10

9/11

0.066

HV

26

8/29

9/5

0.028

MV

27

8/29

9/5

r(0.017)

MV

28

9/16

9/17

9/17

9/18

9/18

9/19

0.032

HV

29

9/22

9/29

0.74

MV

9/22

9/29

0.032

MV

30

9/8

9/9

9/9

9/10

9/10

9/11

0.048

HV

31

9/29

9/30

9/30

1011

10/1
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0.20

HV

32

9/5

9/12

1r(0.019)

MV

33

9/16
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1r(0.013)

HV

34

9/10

9/17

tr(0.011)

MV

35

9/8

9/9

9/9

9/10

9/10

9/11

0.046

HV

36

9/8

9/9

9/9
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9/10

9/11

nd

HV
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